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Learning Today... Leading Tomorrow...

CTET MS L1 Hindi L2 English P2
Topic:- CDP_P2_CTET

" The course of development of children is :
(1) Uniform and orderly
(2) Uniform and disorderly

(3) Individualistic and sequential

(4) Individualistic and disorderly
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[Question ID = 1][Question Description = S20_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]
2)
Theorists now prefer to refer to certain periods as ‘sensitive periods’ rather than ‘critical
periods’ in recognition that :
(1) Development is dynamic in nature
(2) Development is determined by heredity only
(3) Development is determined by environment only
(4)

Development is fixed and static
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[Question ID = 2][Question Description = S20_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3)



Naresh and Mukesh are in the same age group yet they show differences in social and
cognitive development. It is due to which of the following ?

(1) Cephalocaudal Principle

(2) Proximodistal Principle

(3) Principle of Individual differences
(4) Principle of Uniformity

TT IR TR 9 H T SR ¥, AfRA 31 % SaEeas 9 grtee g § o B ) g R
fagia % #rw g2
(1) Toeer &1 SiomH fagia

(2) fasm =1 gdvguiga fagid
(3) At Tyl w1 fagid
(4) THEI H G

[Question ID = 3][Question Description = S20_CDP_Q003]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID = 12]
4)
Assertion (A) : Delay in achievement of developmental milestone by children can be
directly attributed to heredity.
Reason (R) :  Environmental factors do not play any role in development.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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1[.Q1u<[9cs;;it?or:] |I|; ==1¢;:]|[Question Description = $20_CDP_Q004]
2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]



%) Socialisation of children is :

(1) A simple and linear process.
2

(2)
(3) Is a complex and multidimensional process.
(4)

An orderly and well laid out process

A fixed and static process
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[Question ID = 5][Question Description = S20_CDP_Q005]

2. 2 option - 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

At which stage of cognitive development do children develop the abilities of inference
and abstract logic ?

(1) Sensori-motor

(2) Pre-operational
(3) Concrete operational
(4) Formal operational
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1[Q1txc[e;titqn |Ig =zfﬂ[Question Description = $20_CDP_Q006]
2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



In Jean Piaget's theory is said to occur when the child modifies the existing
schemas to account for a new experience.

(1) Accommodation

(2) Organization

(3) Metacognition

(4) Scaffolding
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[Question ID = 7][Question Description = S20_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)
In Jean Piaget’s theory, egocentricism refers to :
(1) the ability to consider more than one aspect of the situation at a time.
(2) the tendency to organize thinking processes into psychological structures.
(3) the use of existing schemas to make sense of the world.
(4) the tendency to see the world and the experiences of others from one’s own viewpoint.
ST foarst o STTER SIcHeRl=odl o =11 HiF- 8 2
) Tereil feafe < U 8 saer srEm W fa=r e sl gua
(2) Hr= AT Sl HATHS G o SATER W) Siied |
) HISIEl Tl o 3TA T §U HER S qHA A |
(4) EH{ % sTvdl 9 wiwfie gfes 1 st gfie § 3@ =t ygfa

[Question ID = 8][Question Description = S20_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9)
As per Lev Vygotsky, plays a very important role in cognitive development.
(1) conditioning

(2) reinforcement
(3) cultural context
(4)

4 schema
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[Question ID = 9][Question Description = S20_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

"9 A classroom built on Vygotskian principles would promote :

(1) recitation and recall.

(2) collaborative learning.
(3) wuse of rewards and punishment.
(4) conditioning of responses.
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[Question ID = 10][Question Description = S20_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

How many stages of moral development does Lawhrence Kohlberg propose in his
theory ?

(1)
(2)
(3)
(4)

= U1 9 o
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[Question ID = 11][Question Description = S20_CDP_Q011]

1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)
At which stage of Kohlberg's moral development do individuals believe that fixed rules
must be obeyed in order to maintain the social order ?
(1) Instrumental purpose orientation

(2) Punishment and obedience orientation
(3) Law and order orientation
(4) Good boy-good girl orientation
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1[Q1u<[e<§>titc_>n |Ir; =415]2][Question Description = $20_CDP_Q012]

2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)
Dancers, athletes and actors possess high as per Howard Gardner’s theory.
(1) Spatial intelligence

(2) Linguistic intelligence
(3) Bodily-Kinaesthetic intelligence
(4)

4) Intrapersonal intelligence
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[Question ID = 13][Question Description = S20_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)

A teacher’s remark to boys in a co-education class - “Be a man and don’t behave like girls’
would encourage :

(1) Gender equity

(2) Gender stereotyping

(3) Gender role flexibility

(4)

4 Gender equa]ity
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[Question ID = 14][Question Description = $20_CDP_Q014]
1. 1 [Option ID = 53]

2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15 ’ . : :
4 Which of the following statements about assessment of children is correct ?
g

(1)  Primary purpose of assessment is comparison.

(2)  Primary purpose of assessment is to generate anxiety and fear.
(3)  Assessment should be carried out using a variety of means.

(4)  Assessment should not include self- assessment by children.
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[Question ID = 15][Question Description = S20_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

') Which of the following do NOT follow the spirit of inclusive education ?
(1) Differentiated instruction

(2) Universal design for Learning

(3) Labelling and Segregation
(4)

4 Collaborative learning
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[Question ID = 16][Question Description = S20_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)
In a class with students having students from disadvantaged backgrounds whose
experiences should a teacher allow to be shared ?
(1) Discourage everyone from bringing their experiences to the class.
(2) Encourage only children from dominant groups to share their experiences.
(3) Encourage only children from disadvantaged groups to share their experiences.
(4)

4)  Share her own experiences and encourage all children to share their experiences.
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[Question ID = 17][Question Description = S20_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)

In order to accommodate a student with locomotor disabilites schools should facilitate
access and barrier free environment that includes provisions such as :

(i)  Wheel chairs

(i) Walker

(iii) Ramps with hand-rails
(iv) Embossed tiles

(v) Braille systems

(1) (@), (i), (i)

(2) (@) (i), (iv)

(3) (i), (i), (iv)

(4) @ (), (i), [@v), (v)
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1[Q:1e[.-;titgn |I|; =619 ?][Question Description = $20_CDP_Q018]
2. 2 [Option D - 70

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]



19)
Which of the following are typical identifying characteristics of student with learning
disability ?

(1) Omits words or lines in readings; makes mistakes in spellings
(2) Cannot see things after a distance of 2 feet

(3) Perform the same motor action repeatedly

(4) Cannot hear sounds of 70 dB
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1[Q1u<[e<«;-;it<i>or:1 |Ig =713 ;)][Question Description = $20_CDP_Q019]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)
Which of the following statements about gifted children is correct ?
(1) Gifted children do not require any pedagogical modifications.

(2) Gifted children should be given very simple routine tasks to be performed repeatedly.
(3) Gifted children have very high emotional maturity.
(4) Gifted children have specific learning needs that often get ignored in the classrooms.
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[Question ID = 20][Question Description = S20_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21 : 2 .
" Active engagement of students in a middle classroom should be promoted by :

(1) Offering positive and negative reinforcement
(2) Passive listening

(3) Reinforcing competition

(4) The processes of enquiry and questioning
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[Question ID = 21][Question Description = S20_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)
Assertion (A) : Pedagogical processes of dialogue and discussion amongst peers hinders
development of problem-solving abilities.

Reason (R) : Learning is a process that is individualistic in nature and not social in
character.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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(3) (A) T@ ' @fF (R) 7o 2
(4) (A) @R (R) SHI TeTd 7 |
1[.Q1u<;;:)itci>or:1 |Ig :825]2][Question Description = S20_CDP_Q022]
2. 2 [Option ID - 8]
3. 3 [Option D - &7]

4. 4 [Option ID = 88]

) What kind of goals should a teacher encourage her students to set ?

(1) Mastery-oriented

(2) Performance oriented
(3) Failure accepting
(4) Failure avoiding
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[Question ID = 23][Question Description = S20_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)

One’s beliefs have an important influence on one’s leamjng_. Which belief would have a
positive influence on learning ? '

(1)
(2)
(3)
(4)

[ am not born with any abilities
Teachers always make difficult question papers
Getting good or bad marks depends on your efforts

I have never got good marks in geography and [ never will even if [ try.
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[Question ID = 24][Question Description = S20_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

) Constructivism as a theory :

(1
(2
(3
(4

)

)
)
)

Emphasises the role of the learner in constructing his own view of the world
Emphasises on memorising information and testing through recall
Emphasises on the dominant role of the teacher

Focuses on the role of passive imitation in learning
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[Question ID = 25][Question Description = S20_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26) Children construct further knowledge on the basis of :

(1) what is irrelevant for them.

(2) what is already understood by them.
(3) what is completely alien to them.
(4)

4 what is much beyond their cognitive levels.
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[Question ID = 26][Question Description = S20_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27 ) ; 2 5 : ‘
) Which of the following statements about cognition and emotions is correct ?

(1) Cognition and emotions are processes independent of each other
(2) Cognition and emotions are intertwined and affect each other
(3)  Cognition affects emotions but emotions do not affect cognition
(4) Emotions affects cognition but cognition does not affect emotions
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[Question ID = 27][Question Description = S20_CDP_Q027]



1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

20 Meaningful learning of students is NOT promoted by encouraging children for :

(1) Exploration and experimentation

(2) Developing Metacognitive capabilities
(3) Discussion and debate
(4) Passive listening
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[Question ID = 28][Question Description = S20_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29)

A constructivist approach for dealing with ‘misconceptions  among middle school students
is:

(1) to completely ignore them.

(2) to assign lot of content for passive memorization.

(3) to punish the students.

(4) give opportunities for discussing counter perspectives.

farenfofi gra ffda wf=rai =1 frves & forg T gt @ gere < e ?
(1) € SFASE HLA 17|
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1[Q1u<[e;tit<_>n |Ig =1212]][Question Description = S20_CDP_Q029]
2. 2 [Option ID - 114]
3. 3 [Option ID - 115]

4. 4 [Option ID = 116]

30)



Assertion (A) : Schools should not involve parents in any manner in education of their
children.

Reason (R) :  Establishing links of the school with the community hinders meaningful
learning for students.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

U (A) : Tl o1 Ha-Torar =1 Rt off a2 | o o= ol foven F wnfirer € e =nfen
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& sy 41
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(2) (A) 3R (R) SHi Tl € 9T (A) #i (R) TE =30 78 w3 2
(3) (A) ¥l & ©ifd (R) Tord 7
(4) (A) 3R (R) EHI TeTd 2
1[Q1L1<[egtitgn |||; =131(;]][Question Description = $20_CDP_Q030]
2. 2 [option D - 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

1)
A carton contains 5,00,000 tablets of a certain medicine with each tablet weighing 30 mg.

The carton also contains 1200 packets of cotton, with the weight of each packet being
50 g. Then, the total weight of the contents of the carton (in kilograms) is :

(1) 90
(2) 75
(3) 50
(4) 65

e e | ToRET g8 =il 5,00,000 feferal €, S & Ueis &1 9 30 mg 1 361 A § ¥ &
1200 ¥z ft € 58 § yd%F &1 IR 50 ¢ ¥ 79, 39 w4 H W gl F Fa 9N

(kg ¥ ) g
(1) 90
2) 75
(3) 50
(4) 65

[Question ID = 31][Question Description = S20_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]



2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2)
Which of the following statement is incorrect ?

(1) Between any two rational numbers, there are infinite rational numbers.

-3 3
(2) Multiplying the rational number 5 by 2 is same as taking two jumps of 5 to the

left of origin (point O) on the number line.

(3) Any number of the form %, where p and q are integers, is a rational number.

(4) The number 0 is neither a positive nor a negative rational number.

= § 9 R HH e © 7
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[Question ID = 32][Question Description = S20_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3 The successor of 10999999 is :

(1) 10999991

(2) 10999000
(3) 11000000
(4) 10909909

10999999 & YLl & :
(1) 10999991
(2) 10999000
(3) 11000000
(4) 10909909

[Question ID = 33][Question Description = S20_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]



4)
The sum of all the three digit numbers that can be formed using the digits a, b and ¢
without repetition is a multiple of ;

(1) 37

(2) 38

(3) 39

(4) 41

i a, b 3R ¢ § (F971 AU ) 9 37l =] 1S S e drell 9 Hemsdl a1 a9 51 1
WW% :

(1) 37

2) 38

(3) 39

(4) 41

[Question ID = 34][Question Description = S20_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5 : :
" The value of the expression

is equal fo
63
b
97
2 -
15
(3)



1.8 7
Wi} (1_2) <l
7
A T &
63
€
97
2
15
B -
85
4) -

[Question ID = 35][Question Description = S20_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6 . ; . .
) The value of the algebraic expression (a2—b2a)2+2a%b? is :

(1) a'b?+a’

(2) aZb2+ab?
3) a?+b?
(4) a*+Dbla2

SeiT Sk (a2 — b2a)2+2a%b2 1 9 & :
(1) a*b2+a’b

2) a’b*+a’b?

(3) aZ+b*

4) _a*+Dbta?

[Question ID = 36][Question Description = S20_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

" The value of the algebraic expression (4mn +3n)? — (4mn—3n)? is :
(1) 54 m’n
(2) 92 m*n2
3) 16 m’n
(4) 48 mn?



s &S (4mn + 3n)2 — (dmn—3n)? & 9F ® :

(1) 54 m?n
2) 92 m’n?
(3) 16 m®n
(4) 48 mn®

[Question ID = 37][Question Description = S20_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8)

A mixture of three elements A, B and C has A, B and Cin the ratio 5: 6 : 9, respectively.
Then, the percentage of element B in the given mixture is :

(1) 40
2) 30
(3) 55
4 11

3EFEl A, BARCH Uh fAgu d§ A, BARCHIW: 5:6:9 % oFud § ¥ 74, 39 fago d
#7999 B 1 wiawm @ :

(1) 40
2) 30
3) 55
4 11

[Question ID = 38][Question Description = S20_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9)

Anil, Bhavna and Charu divided a total of 900 stamps among themselves in the ratio

6: 5 : 4, respectively. Then, the differences between the number of stamps of Anil and
Bhavna is :

(1) 55
2) 60
(3) 45
4) 38



s, s 3R = 3 Fet 900 ferdl &1 emug § U9 6:5: 4 % oUW H @re famm sfe
SR 1ET %1 9T B arel fesel &l Gensii & W @ :

(1) 55
2) 60
3) 45
(4) 38

[Question ID = 39][Question Description = S20_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

'Y The coefficient of x2 in the product of (2x2—5x +4) and (x> +7x— 8) is :
(1) 68
(2) —47
(3) —68
4) 47

202~ 5x +4) 3R (a2 +7x— 8) % TUHEE H x2 Hl YONF © :

(

(1) 68
) —47
3) —68
4) 47

[Question ID = 40][Question Description = S20_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

The difference between the measures of two complementary angles is 12° If the smaller
angle is x, then the value of 2x —5° is :

(1) 79°
) « 76°
(3) .~ 75°
@y 73

1) 79°
2) 76°
3) 75°
4) 73°

[Question ID = 41][Question Description = S20_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]



3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)

A tall tree got broken due to strong winds in such a way that it got broken at a height of
12 m from the ground. As a result of this, the broken tree top started touching the ground
at a distance of 5 m from the base of the tree. Then, the original height of the tree was :

(1) 20m

2) 15m
(3) 13 m
4) 19m

T 991 U, 99 gaedl & HRU, G T 12 m F S9E WL I ¥l THF Formey U H 22
T 9T U & YR H 5m i g8 W YfF #1871 T 8| 79, 39 U B g =6 off
(1) 20 m

(2) 15 m
3) 13m
4) 19m

[Question ID = 42][Question Description = S20_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

" The least interior angle possible for a regular polygon is :
(1) 30°
(2) 45°
(3) 60°
(4) 70°

TRl T =g 1 FAqY HYe Si: FI €

(1) 30°
@)  45°
(3)  60°
4y 70°

[Question ID = 43][Question Description = S20_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14 ) ; P
) Which of the following statements is incorrect ?

(1) We can have a polyhedron with 8 faces, 6 vertices and 12 edges
(2) We can have a polyhedron with 5 faces, 6 vertices and 9 edges

(3) We can have a polyhedron with 20 faces, 12 vertices and 30 edges
(4) We can have a polyhedron with 10 faces, 15 vertices and 20 edges

e | -1 e e § 7

(1) B9 8 Terhl, 6 ¥l 3R 12 FFARi amen T agweh! W T o ¢ |
(2) &9 5 Warehi, 6 YNt 7R 9 feRarl aren U Sgheish] Wrd Y HeRd @ |
(3) ®H 20 WereR, 12 9T 3R 30 AT aTer U Sghershl UTe o Hahd @ |
(4) B9 10 Hereh,, 15 ISl 3fR 20 forarl aren U agweren! I T Hehd & |

[Question ID = 44][Question Description = S20_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

") Which of the following has more than one lines of symmetry ?

(1) A rhombus

(2) Aline segment
(3) A parallelogram
(4) An angle

= 4 9 forgen s 9 stfuss gafag tan €2

(1) TH TS

(2) TH FEEe

() T FAI A

(4) T
[Question ID = 45][Question Description = S20_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]

2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16) The area of a thombus with diagonals of lengths 7.5 cm and 12 cm is :

(1) 45 cm?
(2) 36 cm?2
(3) 54 cm?

(4) 90 cm?



faauif 1 Seredi 7.5 cm &R 12 cm 9161 U G994 F1 &6 ©

(1) 45 cm?
(2) 36 cm?
(3) 54 cm?
4) 90 cm?

[Question ID = 46][Question Description = S20_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

A picture is painted on a cardboard 8 cm long and 5 cm wide such that there is a margin
of 1.5 cm along each of its sides. Then, the total area of the margin is :

(1) 20 cm?
(2) 30 cm?
(3) 15 cm?
(4) 25 cm?

8 cm @ 3R 5 cm F(E Tk HTEae T T o7l 36 TR He o a1 & ff soen! oo o= &%
319 Tk 1.5 con &1 @RPN W1 9, 30 TR 61 Fel 8% § ¢

(1) 20 cm?
(2) 30 cm?
3) 15 cm?
(4) 25 cm?

[Question ID = 47][Question Description = S20_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

A road roller takes 750 complete revolutions to move once over to level a road. The
diameter of the road roller is 84 cm and its length is 1 m. Then, the area of the road, that

is being levelled, is : [Use = %}

(1) 1765 m2
(2) 1624 m?
(3) 1890 m?2
(4) 1980 m?



T Ue-Uer fFdl Tek 1 UH a) Y0 ®9 F g0ddl 0 § 750 o ol & | 39 Je-Ter #1
P 84 cm § GU1 T9H! @aE 1 m &1 99, THAE 1 o W 30 TSH F GAFA ¢

(mw= %Wmﬂﬂﬂﬁﬂ{)

(1) 1765 m?2
(2) 1624 m?
(3) 1890 m?
(4) 1980 m?

[Question ID = 48][Question Description = S20_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

9 Which of the following is a false statement for an ungrouped data ?

(1) The mode is always one of the observations in a data
)
(3) The median may be one of the observations in a data
(4) For a given data, there may be more than one mode

The mean is a always one of the observations in a data

= | %=, srarited SAThel o foTl U 3 H 82
(1) Sgersh ol 37 RSl sl Wk R 2l |

(2) TI%A WeE 37 kel i Ueh WAl BT ¢ |

(3) T T SHHG H T A& & HHA T |

(4) feu gu sitwei % o, ww & 31 9gas & g%d 21

[Question ID = 49][Question Description = S20_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)



Numbers 7, 8, 9, . . ., 51 are written on slips (one number on one slips) and are putina
box. A slip is then taken out from this box, without looking into it. The probability of
getting a slip bearing a multiple of 7 is :

S
Gl Gle Ble g|w

Tf=E W gEId 7, 8,9, . . ., 51 fordl St € (v uet W uw gem) 99 e 2R v e H @
fem s 81 3@ fesd 4 9 ws wHl, fon 9ok oigy g, Mere okl €1 39 991 W
7 1 sk T[UTS WIS A o1 Wi ©

)
NG e Ble k(s

@ 5

[Question ID = 50][Question Description = S20_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]
21)
Which among the following are the features of formative assessment at upper primary level ?
(@) Identifying learning gaps
(b) Grading and ranking of students
(¢) Identifying common errors
(d) Giving feedback to the students and teachers

Choose the correct opl-ion

(1)  (a) and (c)
(2)  (b) and (d)
(3) (a) and (b)
(4) (@), () and (d)



frafafeas § 4 207 9 55 mufs TR W TEE e & T § 2
(a) HEd H HEE w gEEEA

(b)  Toenfer =1 Sofiesto e

() HIHRUGHT 1 S arell el Sl Te=F=

(d) fomnfefai iR el w1 wfagfe uem s

TEl fasey 1 999 Fifeg
(1) (a) ¥R (o)

(2) (b) 3R (d)

(3) (a) ¥R (b)

(4) (a), () 3R (d)

[Question ID = 51][Question Description = S20_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

22) $.234234234 .... is an example of :

(1) Non terminating recurring decimal number
(2) Non terminating decimal number
(3) Terminating decimal number
(4) Irrational number
6234234234 ... T IR ¢
(1) SATaHHT AT Seees Sl &
(2) STAEET SYHETS HEA H
(3) A SHTTS HE&A H
(4) STUTRHA HE&A &

[Question ID = 52][Question Description = S20_Maths Content/Pedagogy_Q052]
1. 1[Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]



23) Which of these generalizations is/are true ?
(a) Any number lesser than 5 is also lesser than 10
(b) If a number is not a multiple of 3 then it is not a multiple of 6
(c) Any quadrilateral with all sides equal is a square
Choose the correct option :

(1) Only (a)
(2) (a) and (b)
(3) Only (b)
(4) (b) and (c)
e 8§ & |y 8 gEEie w2t #/8 2

(a) FE RS> SEAETTR10F A ST
(b) TR HE T 3 % YUS Tl & ql 8 6 H U ol TE 7
(c) IS off TG forment Teff fomd e € g o ¥

TEl fased o1 994 faRfeg
(1) e (a)

(2) (a) ¥R (b)

(3) I (b)

4)  (b) IR ()

[Question ID = 53][Question Description = S20_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]

2. 2 [Option ID = 210]

3. 3 [Option ID = 211]

4. 4 [Option ID = 212]

24)

When asked to arrange the decimal numbers 1.2, 0.13, 2.7 and 0.097 in ascending order, a class VI
student arranged them in the following way 0.13, 0.097, 1.2, 2.7.

How will you address the error made by the student ?
(1) Provide a similar type of example for practice

(2) Demonstrate the process of arranging decimals in ascending order once again on the black
board

(3) Demonstrate the place value system of decimals using manipulatives and facilitate the student
to compare his/her answer

(4) Ask the student to read the numbers once again and try to arrange them accordingly



e ZIHEE @S 1.2, 0.13, 2.7 SR 0.097 1 AWE 3HH § GoAaied HTH o o0 e T 76 a1 VIE
faeneff 7 3% f=1 w9 | gerafera &1 : 0.13, 0.097, 1.2, 2.7 fornel g =1 7€ Ffe #1219 HY Fafua
7

(1
(2)
(3)

(4)

vy % fou 35 WK 1 U ST ISR S

TIMUE W U o1 SR SOHEEl i SRS wH H gorafted & w ufwa # welih wn
FEABINNS FITHT =1 ITANT T GUHEE] i LA I Foet 1 gefiid w5 qo 398 famnedt 6 o
I Rl G FA H HES-GTH Rk

Tamneil =1 Uk IR e § H&As & g a9 deER 3% goaareyd i & ol e &

[Question ID = 54][Question Description = S20_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

25)

When asked to find the sum of 5x and 3y, a child has done it in the following way : 5x +3y=_8xy.
This is an example of :

(1)
()
(3)
(4)

Comprehension error
Careless error
Conceptual error
Random error

S 51 q91 3y 1 AN FId A h (A el T4 99 Th o 9 34 feEfafed w9 3 e
5x+3y=8xy
REEEHEU RS

(1)
(2)
(3)
(4)

SHeHF Ffe
SHEYHIEY I 718 e
HATHRONHE S H

RUIAEEDE (E

[Question ID = 55][Question Description = S20_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26)

Which of the following is NOT true about algebra ?

(1)
@)
()

(4)

It deals with the generalization of patterns for rule-making

It deals with developing mathematical statement using known and unknown quantities

It deals with solving daily life problems using fundamental operations to find the unknown
quantities

It has very limited application in problem solving in daily life



frefafaa § & = w stemfoe % a1 § T&8 @& e ?
(1) = Frem-ffo % for, gfeami & wmm=iw 5[ w8
(2) AT TG AR ST R I HeE | AT HeA & fos w1 96w §

(3) FE STReE Tisraell & U 9 Sfek Siaw W snenfid s1ema fewEl 1 96 F w gHEE H g
T I A9 FAT ©

(4)  THH SR Sien T SnHRE T SHEE o agd @ G Sy §

[Question ID = 56][Question Description = S20_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27) Which of the following transformations affect the congruency of a shape ?
(I) Translation

(2) Reflection
(3) Rotation
(4) Enlargement

frefafas § § &9 91 S9iaor SR/ 1w Tt Taidd i guifad e ?

(1)  FAEIE
(2) UEEA
(3) HOH

(4) fa=ae=

[Question ID = 57][Question Description = S20_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28) Counter examples in mathematics classroom are useful for :
(a) Eliminating misconceptions
(b)  Disproving conjectures
(¢) Proving an axiom
(d) To falsify a generalization
Choose the correct option

(1) (a), (b) and (d)



TToTd RSt H Yegarey STArT ¢

(a) sﬁﬁ?ﬁaﬁgaaﬁ%m

(b) ol 1 E@eT FH % feu

(c) T sffed = fog w0 & fou

(d) T HH=IERT i e i femm & fag

Tel fagerg =1 999 fofsu
(1) (a), (b) 3R (d)

(2) (b) 3R (d)

(3) (a), (b) ¥R (0)

(4)  (b), (c) ¥R (d)

[Question ID = 58][Question Description = S20_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29 Inductive method of teaching mathematics does not :
(1) proceed from particular to general

(2) take care of needs and interests of learners

(3) proceed from abstract to concrete

(4) encourage discovery and independent thinking
iforq foreror <6t e fafy & wfafed & 2 |

(1) To9" ¥ 9= i S 9@
(2) ferTHERAIS] Bl AEYIHAIS SR Bl T AF WA
(3) ST | A B T e
(4) Faun iR wWad oA st WeEfed w
[Question ID = 59][Question Description = S20_Maths Content/Pedagogy_Q059]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30)

Which of the following statement does not imply the same as, “All multiples of 8 are multiples of
27?

(1) There are no multiples of 8 that are not multiple of 2
(2) If a number is a multiple of 8, itis a multiple of 2

(3) Any multiple of 8 is a multiple of 2

(4) Some multiples of 8 are multiples of 2



Freafarfaa Foi § 9 =9 91 FF 8 F Telt Tt 2% oS 81 o FEEeE TE 7 2
(1) 8% TH = «f Yo 71 & Sl 2 % Jors 7 &

(2) PR FIE HE& § % US § Al 98 2 FH YU 20

(3) 8 I ot U, 2 H1 oY U B

(4) 8% FS IS, 2F NS §

[Question ID = 60][Question Description = S20_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

1
A toy car is moving in a straight line at a speed of 6 cm/s and comes to rest after a minute. How far
has it travelled ?

(1) 600 cm
(2) 60m
(3) 360 cm
(4) 360 m

e e &R 6 H.49. /4. %t 9a | el v | afd 2 @ T iR u e % gy faudmeen § o S
%Isﬂﬁmiﬁﬂqﬁ%

(1) 600 H.HI.
(2) 60 Hi.

(3) 360 H.HI.
(4) 360 =,

[Question ID = 61][Question Description = S20_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2)

The volume of a small ball is calculated to be 25 cm® and it weighs 30 g in air. Will this ball float or
sink in water ?7

(1) Sink
(2) Partially sink
(3) Float

(4) Can not be predicted from the given information



T Bl g w1 AR 25 W3 aitwfaa e e it e H swe wR 30 g ®) ¥E A S § §oh W
=3t 7
(y e
(2) iR gl
(3)
(4) SUUH YA H THH ATHH L A S Gl
[Question ID = 62][Question Description = S20_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]

3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3 Which property of the filament in a bulb makes it glow ?
(1) High resistance and high melting point

(2) Low resistance and high melting point
(3) Low resistance and low melting point
(4) High resistance and low melting point

aed H dq w1 [ 9 0 39 WEW A T 2

(1) 3= gialy & 3= TR

(2) = ufady @ 3= 1o

(3) T ufediy we f=1 e

(4) = wfaly T e e

[Question ID = 63][Question Description = S20_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]
4)
Assertion : The boiling point of water reduces at high altitude.
Reason :  There is decrease in atmospheric pressure at high altitudes.
(1)  both Assertion and Reason are correct and Reason is the correct explanation of the Assertion

(2) both Assertion and Reason are correct and Reason is not the correct explanation of the
Assertion

(3) Assertion is true but Reason is false
(4) Assertion is false but Reason is true



AFeReM : TERA W 5 1 FHYE 7 8 S g

T : Saredl W ArgHeed 2 1 | 2

(1) 3tfierer oK ST ST 9& € SR T, SIfUhes T TEl SAren S B
(2) erfeRer T et T wEt € of e, arfuere ot TE e E Far B
(3) TRy T § ffrg 0T 315 B

(4) efaeRer sger ® foreg SRIOT 1 )

[Question ID = 64][Question Description = S20_Science_Q064]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

) Which one of the following statements are correct about sound ?
(A) Sound can travel through all media.

(B) Sound is produced by select few vibrating bodies.

(C) Higher the amplitude of vibration, the louder the sound.
(D) Higher the frequency of vibration, shriller the sound.

(1) (A) (B), ()

2 B ©) D)

3 @), ©) D)

(4 (A) (B), (D)

wafy % Heof #H, frfafed & 9 &9 & wum 98 € 2
(A) eaft gt mrogdi § daRa ae #

(B) F® %yd Hdl fafere sxqsli ¥ waf 3cu= 2l 2|

(C) &9 =1 fSfe1 3= A Bl 8, =& 31 & yoa 2t ¢ |
(D) A =i el 3= el Sl &, Baf 3o & HuidEl il ¢ |
(1) (A), (B), (©)

(2 (B (©), (D)

(3) (&), ©) )

(4 (A) (B), (D)

[Question ID = 65][Question Description = S20_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]
6)
What is the difference between a virtual image and real image ?
(1) Virtual image is always erect and real image may be inverted or erect.
(2) Virtual image can be of different sizes whereas real image is of same size.
(3) Virtual image, can not be projected on screen while real image can be projected on a screen.

4) Real image can not be projected on screen while virtual image can be projected on a screen.



T S TE s wfe § s 2

(1) Tt wfafes wee dien g § i) anfaes gfafEa e o i & 9w 2

(2) et wfafss fisr wrs =1 8 el € safs ardfas gfafds w9 dEs 1 e g
(3)  enurdt ylafsis of o et T S wedt swfE arafas gfafEs oS o g S ged 2
(4) arafas wfafdd 98 9T & T8 S ekl stereh 9 wfafes 98 9 9 i S el ¢ |

[Question ID = 66][Question Description = S20_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7 Identify the following :

A - Every object exerts unit force on every other object.

B - Force acting on a unit area of a surface.

C - Non-contact force
(1) A - Gravitational force, B - Friction, C - Magnetic force
(2) A - Gravitational force, B - Pressure, C - Magnetic force
(3) A - Gravitational force, B - Pressure, C - Friction
(4)

4) A - Pressure, B - Friction, C - Magnetic force
TrefeafEd = we=f
(A) TeIh 9 3 Yo o] W T o6 @l €,
(B) ferdll e o $ohTE &9l W = HIT oA
(C) sTeq¥il &
(1) (A) e =, (B) 79U, (C) FhiT o
(2) (A) TeE=pH 9, (B) T, (C) HIH e
(3) (A)WW(EE{W(C
4 (A=A C) g T

[Question ID = 67][Question Description = S20_Science_Q067]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

®  Identify which is NOT a food preservative ?
(1) Sodium carbonate
( Sodium benzoate
(3) Sodium metabisulphite
(4) Sodium chloride



eIy R H U Wiey ufems 6 g 2
(1) Hifewn FEMH

(2) Hifeaq s=siue

(3) HifeyH HEEHECFERS

(4) wifern FiREs

[Question ID = 68][Question Description = S20_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

) Which of the following reactions is/are not feasible :
(A) 2Na+ MgO

(B) Mg + CuO
(C) Zn+ CuO
(D) Cu + FeSO,
(1) (A)and (B)
(2) (A) and (C)
(3) Only (C)
(4) Only (D)

Frefafaa § @ i o sfufmand d9g & 218 2

(A) 2 Na+ MgO
(B) Mg+ CuO
(C) Zn+ CuO
(D) Cu + FeSO,
(1) (A) ¥R (B)
(2 (A) 4R (©)
(3) wEa (C)

(4) ad (D)

[Question ID = 69][Question Description = S20_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10)



An element forms two different oxides A and B. Both are colourless, odorless and gas at room
temperature. A is toxic to humans and B is a greenhouse gas. Identify A and B respectively.

(1) Nitrous Oxide and Nitrogen Monoxide(NO)

(2) Sulphur dioxide and Sulphur trioxide
(3) Hydrogen oxide and Hydrogen peroxide
(4) Carbon monoxide and Carbon dioxide

T 1ed of fiu= sffFaEe A 31 B 99 1 8 1 SH1 5 & 999 T TEH, U ud 719 § 1 A "l & fad
BN & 31 B U fta ) 919 &1 ve=nfu fF A T B e €1

3L HFEE e ABee HAAFES (NO)

[Question ID = 70][Question Description = S20_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]
") Which of the following sets comprises only physical changes ?
(1) Rusting of iron and melting of ice-cream
(2) Freezing of ice~<cream and dissolving of candy
(3) Burning of bread/roti and boiling of oil
(4) Burning of roti/bread and corresion of copper

frfafad § 9 #F ¥ 9q=a § Faa ifas aftadq € ?
(1) @R 1 ST 3R eneash 1 fueer
(2) AR I SHA A HE L
(3)  SE/ARET 1 S AR dA ST
(4) TE/ES T AT AR FHIT H HeIR

[Question ID = 71][Question Description = S20_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12)



r
S

(1)
(2)
(3)
(4)

Polyester is made of repeated chains of esters which is a chemical that gives characteristic
fruity smell.

Esters are just made of carbon, hydrogen and oxygen and the catenation property of carbon
makes it form long chains.

Both §; and S, are correct and S, is the correct explanation of the S;.
Both S, and S, are correct and S, is not the correct explanation of the S,.
S, is true but S, is false.

S, is false but S, is true.

giferusel TR =i YA gEensdl § o6 86 8 S Uk TWEA § SR U fafie well =i 1 < 7
T el e, FEerer SR SIS | 99 210 § 311 e o1 FEar 10 ST aisll @ om0
gl

S, ¥ S, Bl Wel € $R S, , S, T TEl AT T |

S, 3 S, TIFI TWEl € 7R S, S, FI Tl AR TE 2|

S, ¥4 ¢ fohg S, 319 B |

S, 915 § T S, ¥

[Question ID = 72][Question Description = S20_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13)

If ammonium chloride which is used as fertilizer and sodium chloride are mixed together and
heated what is likely to happen ?

(1) Neutralization of sodium chloride

(2) Sublimation of ammonium chloride

(3) Decomposition reaction

(4) Combination reaction

7fe STHITHH FANES, S TF 36 o §9 H YJF 8l &, AR Hifsaq FEs & T 919 Hiam =, ™
e S, & 31 Bl ohi HUTEHT 8 2

(1) HifeTH FARES 1 S/EHATH

(2) SHIEH FARES 1 ST

(3) faees sifufsa

(4) HAeE st

[Question ID = 73][Question Description = S20_Science_Q073]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)



Sejal has two colourless solutions X and Y. She adds turmeric solution to X and Y. X turns yellow
and Y becomes brick red. Then she pours Y into X and the red colour starts fading. What can you
conclude about the nature of Xand Y ?

(1) XandY are salt

(2) Y isa base and X can not be known with limited information
(3) Y is base and X is acid
(4)

4 X is base and Y is acid

T o U &1 e faeeE X iRy ¥ 198 X SR Y § el o faerse St §1 X den @ s € sy €2
Y e B S S | T =98 Y w1 X H Srer! € S et T gesht B ST B S6l € | 399 X S Y 1 g
¥ faog & w01 frerd Frenret et €72

(1) X&RY o=

(2) Y U &R & iR X G g= % STEm W A e e s gk

(3) YT &R B HRX A )
(4) X T &R T ARY &7 T

[Question ID = 74][Question Description = S20_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

13) Which one of the following statements is true about excretory systems in animals ?
(1) The major excretory product in humans is urea.
(2) Aquatic animals have no need to excrete.
(3) Animals like lizards excrete ammonia gas.
(4) Human urine normally consists of 50% water and 50% urea.
giforEl & SaHsi a5 o Hedl ¥ frefafed 9 9 % @ e T §7?
(1) =FEl o g Seei 3cre R 1
(2) el FIfoRE 1 Scds i Bl STEvEdl Tel ¢
(3)  fousel S/ 9mof s i Seafsa w €
(4) HHE 93 H WHRIG: 50% S S 50% e g €
[Question ID = 75][Question Description = $20_Science_Q075]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)



While observing the onion cells under microscope, one can notice many blank-looking large ‘X’
structures in the cytoplasm, while the same structure in cheek cells are smaller in size. X provides
turgidity which gives the shape of the cell and also stores water and nutrients. X is a storage house
of amino acids and sugars. Whatis X ?

(1) Plastids
(2) Nucleus
(3) Vacuoles
(4) Nucleolus

GeAaRlT o T TS I FITORRISH o YeT0] I U, HE HITCIHT 559 H ST WIeil greid Jad- X HEAm
E T & | STafeh HU HITIERIs &l GHH HEAT AR H ST Bl § 11X Thifd HeT hidl & il hifemeh
T SRR &A1 & 3R STed Ue YTk dedl] o1 S0 Tl & | X AT 377t e 9rehaed o Y 81X & ?

(1) g%
(2) wH=H
(3) T

(4) Hfgw

[Question ID = 76][Question Description = S20_Science_Q076]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]
17)
Assertion: Penguins have thin skin and less fat.
Reason: Penguins huddle together to keep each other warm.
(1) both Assertion and Reason are correct and Reason is the correct explanation of the Assertion

(2) both Assertion and Reason are correct and Reason is not the correct explanation of the
Assertion

(3) Assertion is true but Reason is false
(4) Assertion is false but Reason is true

rfirere : el H = el SR FY a a )

WEOT: . S Uk gHL &1 T T o ol Uk g Ue R WS B B |

(1) AR I HROT SHT T8l 2 it et ifsmed # 93 = 2
(2)  SFUFRYT T HROT SHI T T 31 HRUT AR F T e 76 T
(3) eAfueRem T ¢ fofeg hIOT 978 B

(4) IfeRe s ® foeg SRIOT A |

[Question ID = 77][Question Description = S20_Science_Q077]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



'8) Which of the following represent correct matching sets ?

(A) |Viruses (i) |used in preparation of medicines

(B) |Bacteria (ii) [need a host organism to reproduce

(C) |Protozoa (iii) |multicellular

(D) |Fungi (iv) [amoeba

(D) (A)(), (B)-@), (O~v), (D)-(iii)
(2 (A)(), (B)-(i), (O)-(iv), (D)-(iii)
(3)  (A)-(iii), (B)-(iv), (CO)-(1), (D)-(ii)
(4)  (A)v), (B)-(i), (O)-(ii), (D)-()

Foetfeafias 3 & %9 o ke q= <9 @ ¥ 2

(A) [ferem (i) |sTfiri & Fraion F vgea

(B) [siramy (ii) [ & fore qeamt i eavEs
(C) [t (i) [sEw TR

(D) [T (iv) |eTetan

() (A)-@), (B)-@), (C)-(iv), (D)-(iid)

(2) (A, (B)-(ii), (O)-(iv), (D)-(iid)

(3)  (A)-(ii), (B)-(iv), (O)-(i), (D)-(i)

(4 (A)(v), (B)-(i), (C)(iid), (D)-(1)

[Question ID = 78][Question Description = S20_Science_Q078]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19) Identify the reason for considering loamy soil as the best top soil to grow plants.
(A) Tt has nearly the same amount of large and small particles.

B) It has good water holding capacity.

C) It has humus in it.

D) Itis heavy and has little air.

n (A @) ©
2 (A) ©), (D)
3) (B) and (D)
4)  (A) and (O



Y19 I & o Rt ge1 1 399 SO TaEl ga1 9 9 & oY SR wi qgEE i
A)  THH TR HE G H Bie T aS FUEd ©
THF! STl FRYT &1 S9H ¢ |

C) THH EE I el

(A)

(B

(

(D) & Wil 8 3 guH arg 4@ 2|
(

(

(‘

(

[

n (&) @) ©
2 (A (C) (D)

(
(B), #R (D)
(

00

)
)
)
4)

[Question ID = 79][Question Description = S20_Science_Q079]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

20) Identify the plant with unisexual flower.

(1) Rose

( Papaya
(3) Mustard
(4) Petunia

TEhfeiTl go7 =1 die TEEg :

(1) s
(2) 9
(3) TH

(4 fogfrn

[Question ID = 80][Question Description = S20_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)



Identify the statements that are true about the scientific enterprise.

(A)

(B)
(©)

e 8

(U8

P e i T e B e S

e
T

Scientist make public their understanding through, carefully written papers, posters and
reports.

Most scientists are men because males are better at scientific thjnking.

Science is not a creative field and scientist rely heavily on empiral data to settle claim about
nature.

Most cherished ideas in science can be disapproved, falsified or modified.

(A), (B) and (C)

(A), (B) and (D)
(B) and (C)
(A) and (D)

T FYAl F ISHH HifSU S 71 3TM F faum d w2

e AT |9l WrEyEds fafed osi, el SR {uEl g e #51 ©

frsmier SR 59 2 iR e feaT H 199 sea ¢ |

o™ Uk GorTcTs 451 78l ® SR S Hehfa & fawa § 18 9w wuifua w1 & forn s ves=
el W R w1 )

T & e a1t HSie MU faarl &1 FEEHR, S A B fHa1 S HHa ¢ |

[Question ID = 81][Question Description = S20_Science_Q081]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



The science textbooks often have coloured boxes with interesting stories of past. One such story is
about the working of the stomach was discovered by Dr. William Beaumount when his patient
Alexis St. Martin was badly hit by a shot gun.

What are the objectives of science teaching-learning that are fulfilled by including the above in the
textbook ?

A) To develop a historical perspective.

B) To develop an understanding of the nature of science.

C) To develop an appreciation of how an incident gives rise to discoveries.

D) To reduce the burden of content by including fun stories.

(
(
(
(
(1)  Only (A) and ()
(
(
(

2

Only (C) and (D)
Only (A) and (D)
4) (A), (B) and (C)

G

o
—

fomm #t TeagEE ¥ e H Al weilE g A S | 9 T ) O e R
ST =i A &l G 99 g8 59 fafwcges fafemm femise & aiF, 27ee de "ifdd U@ dg® i
et 9§ gl a1 = gl

fomm e sifirm 2 9 %19 9 3qva € S ST w1 TS gEd § Sifad @ T S w2
(A) T Ufqerfas wftyes @ fawg

(B) Tas =1 wepfd =1 wwgt =1 fasrd

(C) =& = 1 fasrg e foh 9 U e ©is &l 57 St 7

(D) Ee Ferrl gfafer w1 gt &1 IR F9 w5 |

(1) %9 (A) 3R (©)

(2) a4 (C) SR (D)

(3) e (A) ST (D)

4 (A), (B) FR(Q)

[Question ID = 82][Question Description = S20_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

23)



If a teacher begins with a discussion on physical properties of metals and non-metals followed by
chemical properties and arranges lab activities to demonstrate the reaction of few metals with
dilute acid. The approach to sequencing of teaching-learning activity will be termed as :

(1) Deductive

(2) Inductive
(3) Demonstration
(4) Inquiry based

IS STeATURT UTgel ua stengsti @i wifaes favramell = famm famed 9 uiy &3eh 37t TamEfte fagivme
% AN H S €| SUH UYE O UG & aq vl & @ safutma w feme % fow yEmen §
ToRareRaTdl ot Seree il € | SO -21fRTe fRamhey o IR % H SURTH i 1 el S 2

(1) frmfs
(2) uxforem
(3) &g

(4) < e

[Question ID = 83][Question Description = S20_Science_Q083]
1. 1 [Option ID = 329]

2. 2 [Option ID = 330]

3. 3 [Option ID = 331]

4. 4 [Option ID = 332]

24)

Malti, after teaching the concept of density, found that students have not understood Archimedes’
principles ? She comes up with many activities to do in class. Which of the following strategies
would best address the above issue ?

(A) Take a ball and put it in freshwater. Add salt and see the difference.

(B) Taking an empty glass mug and immersing it into water and making children observe the
bubbles of air rise.

C) Make students themselves determine if an object will sink or float.
D) Ask students to design a toy submarine.

E) Ask students to design a lactometer

(D (A (B), (), (D)

(2 (B) (©), (D), (E)

3) Only ()

(4) (D) and (E) only

_—
L)

—_



Tt = = S o e % gverg uran T famnfaet @ enfhfafes @1 from wme § =&t omen 1 599
el § e fFaerem s % fau feu

Iyire fowr it frefafas § 9 @9 @ G5 a9 yer | ol Fel 2

(A) T Tig o 3R a9 9 H 2Tl | a0 BT SR S 96 |

(B) Rl 1 Tk WGl 771 o 3R 38 5l # Sard IR F= &l 91 % 324 el o o |
(C) fernfefl =1 @4 5 % < o awg garht = deh

(D) Terenfefai =it weh Taei wrgssl i eifimrea =t & forg @

(E) Ternfef=i =i weh et &1 sifiehey sH & fau &a |

(1 (A) (B), (©), (D)

(4) e (D) 3R (E)

[Question ID = 84][Question Description = S20_Science_Q084]

1. 1 [Option ID = 333]

2. 2 [Option ID = 334]

3. 3 [Option ID = 335]

4. 4 [Option ID = 336]

25)
According to N.C.F, 2005 in the upper primary stage science curriculum, which of the following is
recommended ?
(A) Systematic experimentation needs to be introduced to verify theoretical principles.
(B) Most concepts should be arrived at by an inductive approach.

) Vocational education needs to be integrated with science.

C
D) Activities and experiments suggested are inexpensive and use readily available materials.

(

(

(1) (A)and (B)
(2) Only (B)
(3  (C) and (D)
(4) Only (D)



L TEFFd 9@, 2005 & TR, 39 Wafhes w1 faam weg=a |, frefatea | 9w sawaa
g2

(A) T fradi = fag w0 & fou gomafiem warm i gxafad #30 F ey 8
(B) U SIFTHATCH SUNTH R & WYl a9 qga1 =t |

(C) =amEEfae: e faam & wre garrfad 2 =ifza

(D) HQ 7 forameney UE YAR 9% AR QLerdl § SUeed "HiEl | feu S =En |

(

(

(

1) (A) ¥R (B)
2) *ad (B)
3) (Q) ¥R (D)
(4) e (D)

[Question ID = 85][Question Description = S20_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26)  Select the view/views that are aligned with the spitit of open book questions:
(A) It reduces fear of assessment in students as students.
(B) It gives full opportunity to students to explore the book.
(C) It doesn’t help to gauge the conceptual understanding of the student.

(D) It encourages all students to read all books thoroughly and memorize them.
(D (&) B)
(2 (B), ©)
(3 (A ©)
(4 (©). (D)

Gell Y& el &l HEE 8 Hifed faEyfasr & =aa st

(A) = faanfeli § geisha 1 Y& w9 ol g

(B) e farnfo=i =l geae &t @isl L 1 g SawL S 2

(C) e Tornef #t Hyerdll Tma i YeaEA/SEs § Heg T |

(D) = |t faenfe &1 9+ geaehl &1 g0 &9 9 e oIk 3% 9% % forg wieenfed & 7
(

(

(

1) (A), (B)
2) (B (C
3)  (A), (O
(4) (), (D)

[Question ID = 86][Question Description = S20_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)



Research suggests that children are frequently unaware of the location of some of the internal

parts of the body, despite being able to name the parts. What strategy best suits to bridge the above
gap ?

(1) Bringing flash cards of all the internal parts of the body and helping children observe it.

(2) Using and helping children make life size diagrams of human body and labeling it.
(3) Giving homework based on understanding function of all parts of body.
(4)

4)  Making children play creative games based on memorizing body parts.

31y G § o o= R & Sl &) AifeRd A % 9Eee, YRR % F9 eiafis oini #i saffy § owm
B Ted ¥ | STEd FH G0 HA F AT G A swE e 2

(1) YRR F 9t iafte ari & T 1 @ iR F=i & 3% Ufed w5 ° Tl S |

(2) HFE YRR & SitEF SR & 53 99H U 3% AWifehd F% % SUAN i H F=i &l Gerddl e |
(3) VIO | AT o weRTEl Bl HHEH B TEHH <

(4) == ol YRR AT o A AT HL h HR ARG GorArds @ fEer|

[Question ID = 87][Question Description = S20_Science_Q087]
1. 1 [Option ID = 345]

2. 2 [Option ID = 346]

3. 3 [Option ID = 347]

4. 4 [Option ID = 348]

28)

Assertion (1) : In a Constructivistism, knowledge is assumed to be imparted from teacher to
student.

Assertion (2) : Assimilation, accommodation, and disequilibrium are the bases for constructivist
thinking and conceptual change.

(1) both assertions are correct and Assertion (2) is the correct explanation of the
Assertion (1)

(2) both assertions are correct and Assertion (2) is not the correct explanation of the
Assertion (1)

(3) Assertion (1) is true but Assertion (2) is false
(4) Assertion (1) is false but Assertion (2) is true

SRS (1) : HEER H, e | faenedt &1 gmrse Sufid & s 1

AR (2) : TR, HHEH IR SFETEEE rEEre; e iR Hyerl uftEds & S )
(1) < etferem TEt € oir efvenem (2), srfuemem (1) =t & =men 2

(2) =i eIy Td € o rfieRe (2), fueRe (1) 1 T@ =re 7@ €

(3) iR (1) ¥ ¢ foRrg atfieRa (2) 19T B

(4) 2AfUFRT (1) FHA T g AR UT (2) ¥ B

1[Q:J«E=;ti9n |I|; =$]][Question Description = $20_Science_Q088]

2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



29 In an inquiry centered classroom, a teacher would:
(A) Assess prior knowledge and using it as a basis for introducing new concepts.
(B) Ask questions that require critical thinking skills.
(C) Give minimum wait time when a question comes up.

(D) Listen and becoming aware of student’s misconceptions.

(1) (A), (B), (O)
(2) (B), (O, (D)
(3) (A), ), D)
(4) (A), (B), (D)
forelt it e wamere §, e e -

) o §H @ ARG RO AR AL HAHH] ] FEITa T o {70 IHepl SR & FY H TR R |
Y 9w e 5o qehga feaT Rivme @ STy €
C) Tl 999 & 3SA W =AaH Teial §HE S|

(A)

(B

(

(D) feenfef=i =t wif=r=i =61 g s/ 37 s1aTd Brm
(

(

(

S

) (A) (B) (©)
2 (B) (O, D)
3)  (A), (©), D)
(4)  (A) (B), (D)

[Question ID = 89][Question Description = S20_Science_Q089]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30)

Which of the following are NOT the recommendations according to N.C.F, 2005 for the upper
primary stage science curriculum ? Choose the appropriate response :

(A) Relating science concepts to real life situations.

(B) Giving direct information, definitions, and descriptions.

(C) Creating situations for students to construct their own knowledge.
(D) Doing extended learning and avoiding textbooks as much as possible.
(1) ' (A) and (B)

(2)  (A) and (O

(3)  (B) and (D)

(4) (©) and (D)



3 Wt WR ol foem wrea=mat % fae, I weEeEt w9 2005 % FIER, FreEfafn § ) w5
g STIE T € 7 Sug SW g

(A) To=m & Syl o1 arsifoss Sited AF9al 9 Sire |

(B) F=FT, Ui U sAmeATd Hie 3

(C) femnfef=i o for Ut feerfoar gfem e o & 1o 39 =61 fmior =6 wek |
(D) tferT =1 forea 1 SR TRl ae @ Weh WGATRIRI | gL & |

(1) (A) ¥R (B)

(2) (A) R (Q)

(3) (B)W(D

(4) (C) ¥ (D)

[Question ID = 90][Question Description = S20_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P2_CTET

1)

few e eIy St earTgEeh ufeu W U T Uy k1 uge famen i)

A TF SFHA e §1 FEA AT WS A HAHT T W Al §, SR T
Fia-hia foFdl 1 o=t 72l ot | amit % fomr 9 T2 g € @iet amit o g9 Sigd SAT9s a2
1 et amft § gt e fag S 9 €1 9yR Siem 9 S HES § 95d AR A1 | AT %
g ¥ el TH-Us 955 G+ a6t o B9 ] Tl § | 39 §ueh § 31 aren SAfd 39 a9 o
B ST | HIS IIont et G dTel &l STHRd el il o dre el w1 ot STFg ugEndt 7
ot = e &~ ‘S g9 o GE U =g SR’ | geuTdt T § guiEAl 1 TOR F § 1
TN AT AT T 3T YRR i B17a1 Sor1 uedi ¢ | T8 =k o fau g F g - ‘S w 0E
F1e %, Aferdd 3 o | fere Fed gEa o, Jfedd 28 g | e o s wA % i fame
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

“The international community must commit to righting that wrong”.

The ‘wrong action’ being referred to here has led to :

(1)
(2)
(3)
(4)

Climate change
Unsustainable development
green growth

Carben revolution
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

“The richest countries caused the problem, but it is the world’s poorest who are already
suffering from its effects.” Which of the following is the problem caused by the richest
countries ?

Disruption of peace.

Higher emissions leading to global warming,
Imprudent use of natural resources.

Higher consumption of food grains leading to droughts.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

What does the phrase “gray and dull’ in the last para mean ?

(1)
(2)
(3)
(4)

anything which is not very clear.

without proper lighting.

deprived of technological advances and comforts
anything which is not attractive.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

According to UN Commission, how can productivity be raised for better economic
growth ?

(1)

(
(

2)
(3)
4)

by growing different crops.

by growing fodder for livestock.

by creating more jobs.

by letting women use their skills and talents.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Read the following statements marked as Assertion (A) and Reason (R). Choose the
most appropriate option.

Assertion (A) : A future where economic growth is inversely proportional to greenhouse

gas emissions is quite possible.

Reason(R) : Use of solar panels, LED lights, sustainable agriculture, improved cooking

(1)
(2)
(3)
(4)

stoves contribute to low carbon environment.
Both (A) and (R) are correct and (R) is the correct reason for (A).
Both (A) and (R) are correct but (R) is not the correct reason for (A).
(A) is correct but (R) is incorrect.
Both (A) and (R) are incorrect.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1. Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

2, We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

3.  Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

4.  Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

5. We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which word in para 2 of the passage means the same as ‘perseverance” ?
(1) unpredictable

(2)  resilience
(3)  incredible
(4) ~ impact
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic growth-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which of the following words is opposite in meaning to the word, ‘recession’ in para 4 of

the passage ?
(1) advance
(2)  success
(3) rebellion
(4) inflation
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic growth-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which part of speech is the underlined word in the given sentence ?

‘We need to harness the contribution of women.”

(1)
(
(

[EE I o)

)
)
(4)

Modal

Verb
Conjunction
Preposition
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

According to the passage, which of the following statements does NOT hold true ?

(1)
(2)
(3)
(4)

The executors of Jesus Christ have been forgotten.

Gandhiji was a fearless leader.
Fear is the root of all evils.
Menially dwarfed will die with pride.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Who live eternally ?

(1)

5 I )

(2)
(3)
(4)

Who suffer and die for a cause.
Who are conquerers

Who are unsung

Who are disciplined
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.

Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Find the most appropriate combination that expresses all negative traits of a person, in
light of the passage.

(A)
B)
©)
D)

i

(
(
(
(
(
(

(%

B
B

(4

unwept, unsung, and unhonoured people
fearlessness, courage, determination

stoning the houses, burning trains, killing people
ambition, conviction, humanity

(B) and (C)

(A) and (B)

(A) and (C)

(A) and (D)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young

and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Who are the ‘salt of the earth’ ?

(1)

5 I )

(2)
(3)
(4)

Intellectually empty men
Fearless in the midst of tortures
Who lack spirituality

Invaders
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which part of the following sentence contains an error ?

It is only when a man has the readiness to suffer and dies
(A) (B)

to a cause that he will live eternally in the minds of men.
(©) (D)

(1) (A)

(2) (B)

() (©

(4) (D)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which of the following words means the same as the word, ‘justification” in the passage ?

(1)

(
(

2)
3)
4)

conviction
vindication
ambition
determination
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

5.

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which part of speech is the underlined word in the given sentence ?

“The
1)
2)
)
(4)

— — p—

w3

individual who thinks must convert the mob........”
Noun

Adjective

Adverb

Verb

[Question ID = 315][Question Description = S20_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4[Option ID = 1260]

Topic:- ENG_Q136-150_L2_P2_CTET

1)

(1)
(2)
(3)
(4)

The long list of words for any language is termed as

Morpheme
Phoneme
Lexicon
Pragmatics

[Question ID = 316][Question Description = S20_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]



2)

A teacher wants to conduct an activity “Three step Interview” in the class and for that
she asks the students to work in pairs. In the first step one student is interviewer and
other is interviewee. In the second step, students reverse their roles. In third step each
share with her / his partner what she / he learned during the two interviews. Here the
teacher is conducting

(1) Community based teaching

(2) Cooperative teaching
(3) Content based teaching
(4) Communicative language teaching

[Question ID = 317][Question Description = S20_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

3)

In the class VIII a teacher presents new material in dialogue form and structural pattern
by using repetitive drills. Here which of these methods is adopted by the teacher to present
the material ?

(1) Audio-lingual method

(2) Classical method
(3) Series method
(4) Direct method

[Question ID = 318][Question Description = S20_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

4 Consider the statements (A) and (B) regarding “Natural Order Hypothesis”--—-

(A) Errors are signs of naturalistic developmental processes.

(B) During acquisition, similar developmental errors occur in learners in spite
of any native language.

(1)  (A) is true, (B) is false.

(2) (A) is false, (B) is true.

(3)  Both (A) and (B) are true.

(4) Both (A) and (B) are false

R

[Question ID = 319][Question Description = S20_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

5)



In a classroom, a language teacher organizes an activity entitled. “Window shopping in
Sarojini Market”. In this activity students are instructed to negotiate in English language.
Here the teacher is following :

(1) Structural Model

(2) Cognitive Model
(3) Interactional Model
(4) Lexical Model.

[Question ID = 320][Question Description = S20_English Content/Pedagogy_Q140]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

6)
In a classroom a teacher is instructing the students to go back to the text and re-read those
lines and words which they didn’t understand. Here, which one of these steps she/ he is
applying :
(1) Focusing

(2) Clarifying
(3) Predicting
(4) Questioning

[Question ID = 321][Question Description = S20_English Content/Pedagogy_Q141]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

7 Multilingualism can be promoted by :

(I) Citing examples of different languages

(IT)  Giving all languages equal importance

(Il) Promoting cooperative learning in the classroom
(IV) Prohibiting code-switching in the classroom

(1) (1), (1) and (1]

(2) (), (III) and (IV)

(3) (I, (IV) and (II)

@) (), @ and (V)

[Question ID = 322][Question Description = S20_English Content/Pedagogy_Q142]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4[Option ID = 1288]

8)



Being a language teacher if you conduct “need analysis” of your learners then for what
purpose the obtained information may be used

(I)  Selecting the content

(II) Grouping the learners

(IIT) Designing the classroom activities
(IV) Identifying good and poor learners
(1) @, (1 and (1)

() (1, () and (IV)

(3) (), (IV) and (1)

(4) (D) (1) and (IV)

[Question ID = 323][Question Description = S20_English Content/Pedagogy_Q143]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

9)

During an open house discussion the students of ¢lass X are sharing their views with the
students of class IX. The Students of class IX and X are getting benefit from each-other.
Hence according to Vygotsky in which type of speech they are involved in ?
(1) Private speech
(2) Social speech
(3) Inner speech
(4) Ego-Centric speech
[Question ID = 324][Question Description = S20_English Content/Pedagogy_Q144]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]

3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

10)

Arrange the process of language Learning according to community based language learning
procedure :

() Knower listens and other learners overhear

(II)  Knower presents learner’s message in L2

(ITT)  Learner presents a message in Mother tongue to the knower
(IV) Learner repeats the message in L2

(1) (I), (II), (IIT) and (IV)

() (), @, ( ) and (IV)

(3) (), (), (1) and (IV)

(@) (), (D, (1) and (IV)

[Question ID = 325][Question Description = S20_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]



11 ;
" The silent way adopts a

(1) structural syllabus
(2) communicative syllabus
(3) task based syllabus

(4) text based syllabus

[Question ID = 326][Question Description = S20_English Content/Pedagogy_Q146]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

12)

When the words are combined to form acceptable phrases and sentences, is called as

Phonology

(1)
(2) Morphology
(3) Syntax

(4) Pragmatic

[Question ID = 327][Question Description = S20_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

13 : : . .
) In a classroom while reading the text a teacher is emphasizing the content words. It

means she is focusing over

(1) Nouns, demonstratives & conjunctions
(2) Nouns, Preposition & Articles

(3) Nouns, quantifiers & Auxiliaries

(4)

4 Nouns, adjectives & adverbs

[Question ID = 328][Question Description = S20_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

72 words denote grammatical relations and have little semantic content.
(1) ~ Open class
(2) Open ended

(3) Content
(4) Function

[Question ID = 329][Question Description = S20_English Content/Pedagogy_Q149]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]



' (A) Boy, love and sing are known as free morphemes.

(
(B) A free morpheme can stand alone as an independent single word.

) (A) is right but (B) is wrong

) (B) is right but (A) is wrong

) Both (A) and (B) are right and (B) is the explanation of (A)
(4) Both (A) and (B) are wrong,.

[Question ID = 330][Question Description = S20_English Content/Pedagogy_Q150]

1. 1 [Option ID = 1317]

2. 2 [Option ID = 1318]

3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]
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